\1 Thé above diagram shows a pyramid with
vertex V and a rectangular base ABCD. M
Is the midpoint of AB, N is the midpoint
of BC and O is the point at the center of
the base. AB =10 ft, BC =18 ft, VO = 12
ft, VM = 15 ft, VN = 13 ft. What is the total
surface area of the pyramid?
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A) 564 ft2
B) 584 ft2
C) 664 ft2
D) 720 ft2




gieW ot o '3_3 ohio right circular cylinders of
PYc pa9 equal volume have their heights
In the ratio 1 : 2. The ratio of
their radii is:

gﬁﬂaﬁé 1: Z%Wmaﬁ

(a) V2:1
(b)2:1
(c)1:2
(d)1:4
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;L‘O oﬁ'l;ﬁe(edge of aregular
_tetrahedron IS 3 cm. Its volume
IS
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(a) (9V2)/4 cm”3
(b) 2743 cm~3
(c) (4v2)/9 cm”3
(d) 9V3 cm”3



(ow! Ahemispherical bow! of
(e\l\e\N ) ge 23‘ © thickness 1 cm and external
% Po diameter 10 cm is to be painted

all over. What is the cost of
painting at the rate of Rs. 0.70
per cm2?
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(a) Rs. 200~R=9d
(b) Rs. 400/
(c) Rs. 800U
(d) Rs. 100/F=0Y4




If the height of a given cone be
doubled and radius of the base
remains the same, the ratio of
the volume of the given cone to
that of the second cone will be
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(a)2:1
(b)1:8
(c)l:2
d)8:1



', ‘5 Oﬁ S ' A cuboid of sides 5 cm, 10 cm

and 20 cm are melted to form a
new cube. What is the ratio
between the total surface area
of the cuboid and that of the
cube?
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(A)6:5
(b)7:6
(c)11: 10
(d)9:7



